
1. Introduction
a. Theories of Punishment (What is Punishment?)
i. What is criminal punishment?
1. A consequence
2. A social stigma that comes with being a criminal
3. Punishment may consist of a fine, proabation, imprisonment, or death penalty
4. Also conviction itself is a form of punishment, carrying with it a social stigma and collateral consequences
5. Imprisonment represents the quintessential criminal punishment
ii. Regina v. Dudley and Stephens (eating the kid while on the ship case)
1. The holding is that these people are guilty 
a. These people do not need to be rehabbed
b. They do not need to be incapaciated
c. Deterrence doesn’t really explain the verdict because a rational actor would do what they did
d. Retribution is the form they picked
b. Purposes of punishment
i. Retribution - you did something wrong and you owe something to society
1. It is a backward looking theory
2. It assumes that we all get the same out of the social contract
ii. Deterrence - trying to stop people from doing this action in the future
1. Special deterrence - specific to the person
2. General deterrence - general to the whole population
a. Comes from Utilitarianism - created by Jeremy Benthem 
b. Assumes everyone is a rational human being
c. Problems of proportionality 
i. We don’t know how much we have to do deter people
d. A huge amount of people go back to prison for another crime
e. Special deterrence, sometimes called deterrence by intimidation: refers to steps taken to dissuade the particular offender from repeating his crime
f. General deterrence, often called general prevention or deterrence by example: refers to the impact of sentence and conviction on others
g. If the costs of crime are set high enough to assure that the gains to be derived from it are not profitable, the rational man will not commit crimes
h. Bentham’s argument makes plain that general deterrence is essentially utilitarian in focus
i. Bentham’s principle contention that the prevention of socially harmful behavior ought to be regarded as the primary aim of the criminal law is widely accepted today
3. Criticisms of Deterrence Theory
a. Statistics suggest that punishment has a doubtful deterrent effect
i. Prison inmates had the highest degree of knowledge of penalties, yet at least half had not been restrained in their actions because of this knowledge
b. Crimes are not necessarily based upon rational thought
c. Because people generally refrain from crimes on moral grounds, threats of penalty have little influence
d. To believe in general prevention is to accept brutal penalties
e. One man should not be punished severely to serve as an example to the whole
i. Kant: Punishment can never be administered merely as a means for promoting another good...For one man ought never be dealt with merely as a means subservient to the purpose of another
iii. Incapacitation - put someone in prison so they can’t hurt anyone else
1. Can’t put everyone in prison
2. They can hurt other people in prison
3. The objective of incapacitation is to deny, or at least greatly reduce, the opportunity to commit future offenses
4. Incapacitation avoids some of the more vexing empirical problems posed by general and special deterrence
5. Incapacitation should be used only in cases where it is needed
a. In cases where the offender would not commit another offense anyways, incapacitation is unnecessary and should not be used
b. But do we know enough about human behavior to be able to predict what an offender will do in the future?
iv. Rehabilitation - try to make people better
1. Doesn’t work very well
2. It assumes people can change
3. Rehabilitation is usually not thought of as utilitarian, but rather as a humanitarian effort to improve the lot of convicted criminals
4. Packer suggests that humanitarian focus may be inappropriate as a goal of punishment
a. “What we do to the offender in the name of reform is being done to him by compulsion and for our sake, not for his”
b. Such an approach would raise fundamental problems of individual liberty and autonomy and would lead the state to intervention in people’s lives to a far greater extent than could be justified in contemporary American society
c. Why Punish?
i. There are two contending philosophical views regarding the ultimate purpose of punishment
1. Utilitarian: that punishment is threatened and imposed in order to achieve beneficial social consequences
2. Retributive: that punishment is deserved because the offender has engaged in a wrongful act
a. The premise of retribution is that individuals are responsible moral agents capable of making choices between right and wrong
d. What to punish?
i. Lawrence v. Texas
1. Can someone be punished for sexual activities inside their private home, when the activities are consensual
2. There is precedent is Bowers v. Hardwick case for this being illegal
3. Where do they look to make this decision?
a. They looked at statutes 
b. They looked at international
i. This annoyed scalia in the dissent
c. They look at Judeo-Christian rules
4. They decide Bowers decision was wrong, only 17 years later
ii. What do we punish
1. Common morality
2. But how do we know our morality?
a. Judeo-christianic morals
3. Legislators decide the laws
4. But there is a problem with overcrimalizing
a. Could make some people not trust the justice system
b. Discriminatory enforcement
c. A waste of resources
5. Bullying - should it be criminalized?
a. There could be an educational approach
b. Could punish threats
c. Judge it by the impact or the intent
d. Is it in our best resources to criminally prosecute or make it educational?
e. Legality
i. Mochan case
1. The defendant is charged with debauching and corrupting
2. There was no statute for the court to go off of
3. Judge identified the offense as a common law misdemeanor and affirmed the sentence
4. The dissent believes that the legislature should be in charge of what hurts the public not the court
a. You can’t make something a crime that hasn’t been a crime before
b. People need some notice
c. Violates separation of powers
5. Indictment - a list of the charges against someone
6. We don’t use common law crimes anymore
a. The dissent was probably right in this case
ii. McBoyle case
1. Stole an airplane and transported it across state lines
2. Charged with violating the National Motor Vehicle Theft Act
3. But the act didn’t include the word airplane
4. SC decides that you can’t assume the defense would assume airplane was included
5. People need fair warning
6. We will give the benefit of the doubt to people in uncertain statutes like this
2. Elements of a crime
a. Actus Reus: The actus reus is a voluntary criminal act, either a (1) positive act or (2) an omission
i. Positive Acts
1. Must be voluntary
a. Because if it is not voluntary you don’t fit in the purposes of punishment
b. There is a fundamental principle that criminal liability always requires an actus reus
2. But what is voluntary?
3. Martin v State
a. The court reverses Martin’s conviction since he was brought to the public place by police
b. It seems that there is a fundamental principle that Criminal liability always requires an “actus reus”
i. The commission of some voluntary act that is prohibited by law
c. Contemporary applications
i. The People v. Low case is different because the D had the opportunity to dispose of the drugs before he was brought to jail
ii. There was a Washington case where the court had a similar one to Low, but ruled that Martin was precedent for the person not getting in trouble
iii. There is debate about how Martin applies
d. The big question comes how to punish acts when they are voluntary vs. involuntary
i. MPC defines an act as a bodily movement whether voluntary or involuntary
ii. When do you decide if something is involuntary
4. Newton case
a. The court reverses Newton’s conviction since he was “unconscious” when he apparently shot the police officer
i. A doctor testified that given Newton being shot in the abdomen, he could go into a state of unconsciousness
b. He feels that the jury was not instructed properly on the unconsciousness defense
c. Unconsciousness is a complete defense to a charge of criminal homicide
d. We define what is voluntary by defining what is involuntary
e. There are involuntary actions:
i. Reflex/convulsion is not voluntary
ii. Unconscious or asleep
iii. Hypnosis 
iv. A bodily movement that otherwise is not a product of the effort or determination of the actor, either conscious or habitual
f. He wins and he gets a new trial
g. Basically excluding criminal liability in the absence of voluntary action
i. The sense of personal security would be undermined in a society where such movement or inactivity could lead to condemnation
5. We have to keep the definition of involuntary so specific because it is a full defense
6. Habits are considered voluntary
a. Your brain is still engaged
7. What if you have a seizure?
a. If you know you are epiliptic then it could be a voluntary act
8. When does the actus reus begin or end?
ii. Omissions - failing to act; general rule is that the failure to act is not an actus reus; an omission is a failure to act when there is a legal, not moral, duty to do so
1. Jones v. United States
a. Did this person have any legal responsibility for the child?
b. The court of appeals reversed a lower court’s decision that Jones was guilty of involuntary manslaughter through failure to provide for a baby, which resulted in that baby’s death
c. The big issue here centers around the omission of a duty
i. When is a person responsible when a duty has been omitted?
d. There are four situations where you do have to help
i. Statute (i.e. Good Samaritan laws)
ii. Certain status relationship - somebody relinquishes freedom and takes on responsibility for another
1. Parent to child, spouse to spouse, employer to employee
2. Based on social norms
iii. A contractual duty (i.e. teachers, firefighters, etc…)
iv. Voluntarily assume the care
v. Created another’s peril
2. Pope v. State
a. Again the big issue here is omission
b. The court overturned the lower courts guilty ruling on Pope
c. The court ruled that Pope did not have responsibility for the supervision of the child, just because she was being a good Samaritan
i. Even though she had a moral obligation, she did not have a legal obligation
d. Another big issue was that Pope did not do anything after she witnessed the beatings
i. The court ruled that Pope was not guilty for being a bystander witness
ii. They also said that the legislator could make a rule within the constitutional limits if they saw fit
e. What should we do about bystander indifference?
f. How do we explain bystander indifference?  
i. Might be explained by people believing someone else that also witnessed the act will come to help
ii. Some people may be worried about retaliation from the attacker
g. Is bystander indifference justified?
3. Genovese case
a. The woman is attacked for over 45 min while she is walking home
b. No one who sees this happen does anything
4. But why should people not be charged with a criminal offense for not doing something?
5. Notes on duties triggered by special circumstances
a. A duty to aid arises where one stands in a certain status relationship to another
b. Parents have a duty to aid their minor children
c. Spouses and parents only have a duty to aid in the case of formal legal relationships
i. But does that still apply today? Or should there be looser terms for what establishes a relationship sufficient to warrant this duty?
1. And how does this apply to the Pope case?
d. Today, parental functions are not always performed by a parent
e. To what extent should a mother be forced to risk her own life in order to avoid criminal liability for injuries inflicted intentionally by her spouse or boyfriend?
f. The duty of one who recreates another person’s peril
i. If you put someone else’s life in peril, you have a duty to preserve that life
g. We must always consider the actus reus (a voluntary act or culpable omission), the defendant’s state of mind at the time of that actus reus (his or her mens rea), and the result caused
iii. Hypo
1. Someone is drowning in a pool. 4 people by the pool could help the person, but no one does anything. 
2. One person is a neighbor - no actus reus
3. Lifeguard - yes actus reus
4. Father - yes actus reus, but what if he doesn’t know if he is the father?
5. One person sticks their arm in the water, and then decides they don’t want to help and stops
iv. From review
1. Two basic types of Actus Reus
a. Positive Acts: Has to be voluntary
i. What is voluntary? Anything that is not involuntary
ii. No involuntary: the brain isn’t controlling 
1. Reflex/convulsion
2. Unconscious or asleep
3. Hypnosis
4. Bodily movement not the Defendant’s
b. Omissions: A failure to act
i. General rule: No duty to help
1. Overcriminalzation 
ii. Sometimes there is a duty to help
1. Status relationships
2. Contractual duty
3. Statutes
4. Voluntarily assume the care
5. A fifth one that we added: putting a victim in peril
2. Staples v. Commonwealth
a. He should have protected the child even though he was at great risk herself
3. Pope v. State
a. Pope brought in a mom and her kid for shelter 
b. The mom had a mental disorder, and ended up beating her kid to death
c. Did Pope have responsibility of supervision of the child given the circumstances?
d. You can't prosecute the mom, because she is probably legally insane
e. So they are going after Pope instead
f. They rely upon a statute to go after her
g. There is a difference between a moral responsibility and a legal responsibility
h. The court is not looking to expand out of the duties category falling under the omissions category
4. Hypo
a. If you knock someone into the water accidentally, are you responsible for saving them?
i. You can try and stretch the actus reus to the act of knocking someone in
5. Barber v. Superior Court
a. A patient is on life support, and the doctor tells the family that they the patient has very little chance of recovering
b. They unplug the machine
c. They charge the doctors with conspiracy to murder
d. Preliminary hearing - do they have enough facts to constitute that they should go to trial?
e. The magistrate dismissed at the preliminary hearing
f. The superior court says they do think it is a crime
g. So the Appeals court has to decide if it is a crime
h. Was there an actus reus?
i. The court rules that there was no actus reus
j. The type of omission was not one that falls into a duty
6. It is important to think of things in terms of why it was omission or why it could have been a positive act and vice versa
a. THIS COULD BE ON THE TEST. NEED TO THINK OF HOW A SITUATION COULD HAVE BEEN FRAMED AS EITHER A POSITIVE ACT OR AN OMISSION
7. Hypos - real life situations
a. Priest molestation situation
i. A cardinal knows that there is a bad priest, and that this priest has been molesting kids. They just move the priest to another parish, where the priest continues to molest kids.
1. Was the cardinal liable?
2. There weren’t laws at the time that made it necessary for the cardinals to report what was happening
b. Jeffrey Epstein
i. He had parties where underage kids were being abused. There were people at the party who knew this, and didn’t do anything to stop it.
ii. The general rule is that there is no duty to help
1. So those people would not be liable at all
c. Michelle
i. Her boyfriend kept talking about killing himself and she encouraged him to. Is she liable?
1. If positive act, yes
d. Jerry Sandusky
i. Was molesting kids on the team and camp kids. Joe Paterno knew what was going on and didn’t do anything. Is Joe liable?
e. USC OBGYN
i. Are these people who knew what was happening liable?
f. Some kids saw a disabled man fall into a river, and didn’t do anything and just laughed
i. Are they liable? No, they are not
v. You can stretch the Actus Reus
1. The actus reus can be extended to include a larger time period, thus making the act voluntary
2. Stretching the actus reus
a. MPC 2.01 (1)
i. A person is not guilty of an offense unless his liability is based on conduct which includes a voluntary act
ii. Example: People v. Decina
1. Epileptic driver
b. Mens Rea: the mental state, the general requirements of culpability
i. Levels of Mens Rea
1. Purposely: Goal/aim; It is your goal or aim to cause the harm (with intent to basically means purposely)
a. This is the highest level of mens rea
b. People that fall under this category are the people we want to punish the most
c. The purposes of punishment apply the most to this category
2. Knowingly: Virtually certain; Your goal or aim isn’t the act, but your virtually certain that the act will happen
a. This is the second highest level of mens rea
b. The purposes of punishment still apply pretty heavily to this category
3. Recklessly: Consciously disregard the risk; your goal or aim isn’t the act, but you thought about the fact that the act could happen and consciously disregard the risk (maliciously=recklessly)
a. This is a subjective standard
b. This is usually the lowest level of mens rea we go to
4. Negligently: Should be aware; the person should have been aware of the act, but did not think about the act
a. Objective standard
5. Strict liability: no mens rea is needed
a. MPC doesn’t have this though
ii. How do we prove MR
1. Motive
2. A person’s conduct
3. Defendant’s statements
iii. The purposes of punishment apply when you make the wrong choice
1. That is why recklessly is usually the lowest level of mens rea we go to, because a person makes the wrong choice when they think of the consequences and disregard them
iv. If there is no mens rea language, our defealt has to be malicious, which would mean at least reckless
v. Regina v. Faulkner
1. F goes down below to steal some rum, lights a match to be able to see and the rum catches on fire and the ship explodes 
2. The judge believes the lower judge mislead the jury as to what the definition of malicious was
3. The act done must be intentional and wilful
vi. Legislators are supposed to write statutes that include mens rea language
1. Today, malicious=reckless
2. Knowingly and recklessly are considered general intent crimes
vii. Jewell case
1. A person was driving with marijuana in a secret compartment across the border to the US
2. He ignored that that there were drugs in the car
3. He was charged with knowingly transporting marijuana
4. He argues that he did not knowingly do it
a. Maybe he was reckless, and realized the risk
b. But he wasn’t virtually certain because he didn’t look inside the suitcase
5. The court bumps up recklessly to knowingly by arguing that there was deliberate ignorance 
viii. The Jewell doctrine - if the defendant strongly suspects the fact but avoids learning the truth such that he/she will not be certain, the court will see the mens rea as being “knowingly”
1. If you have high suspicion and deliberately ignore the concern, that is enough for knowingly breaking the law
2. Justice Kennedy has some concerns
a. The actual instruction didn’t lay out your concern
b. What if you actually believe jewell that he honestly didn’t know there were drugs
i. That should be presented to the jury, that they need to decide this
ix. Specific intent vs. general intent
1. Specific intent - most relates to purposely (sometimes purposely is called specific intent)
2. General intent - could be either knowingly or recklessly
x. Mistake of fact: general rule is that mistake of fact is a defense when the mistake regards a material element of a crime
1. If you need to know it and you don’t know it, you are not guilty of the crime
2. If you don’t need to know it and you make a mistake or don’t know it, we don’t care you are still guilty of the crime
3. Material Elements: those parts of a crime to which the mens rea attaches; they are the elements of a crime that the offender needs to know
a. What does defendant need to know to be guilty of crime?
b. What if the defendant makes a mistake or is ignorant of that fact?
c. Non-material elements are considered jurisdictional elements
4. Regina v. Prince
a. A guy was convicted of taking a girl away from her father without his consent 
b. She is underaged
c. The statute that the guy was charged with didn’t have mens rea language
i. Default is then recklessly
d. Prince argues that the girl lied to him, and that he thought she was over the age, so he shouldn’t be guilty of the crime
e. The court said that he didn’t need to know, that the crime itself warranted the punishment
f. Actus reus = the taking
g. Mens rea = recklessly/knowingly
h. Circumstances = unmarried, no consent by dad, and underage
i. These are the material elements
ii. He knew she was unmarried
iii. He knew there was no consent from dad
iv. He says he didn’t know she was underage
v. He is saying he is not guilty of all the circumstances
vi. The court says that it doesn’t matter
i. How do we figure out what are material elements and what aren’t?
j. Material elements are the ones that mens rea attach to
k. The act itself is wrong
i. It doesn’t matter that you didn’t know she was underage, because you already know what you were doing was wrong
ii. So you still deserve punishment
l. All you need to know are the things that make you punishable
m. The acoustic effect - putting something in to help make the argumentative priority, even if it is necessary to prove they are wrong
5. US v. Feola - police officer assault case
a. The issue in the case is whether it was important that the D’s knew that the people were police officers
b. AR = assault
c. MR = knowingly
d. Circumstances
i. Need to know you are assaulting a person
ii. Need to know the person is a federal officer
1. Does the MR apply to both above?
e. The court needs to decide if point two above is a material element
f. Non-material element = jurisdictional
g. In this case the court decided that knowing that the person is a federal officer is non-material
h. Assaulting anyone is wrong, therefore what he did was wrong and should be punished
i. What do they do to determine if it material?
i. Look at the language of the statute
1. Legislators didn’t address whether this is material
ii. Look at the legislative history/intent
1. This doesn't help answer either
iii. Look at the policy
1. In order to provide the most protection for the officers, you can’t let the knowledge of their identity be a factor
2. That makes the knowledge of their identity a jurisdictional factor
j. Dissent has a pretty good argument
i. The statute applies to anyone who resists, opposes, impedes, intimidates, or interferes with a federal officer
ii. We’re gonna punish these people more than if they just punished a normal person
iii. Was a person’s act that bad?
iv. They lose this argument
k. Once you’re doing something that's wrong, you’re deserving of punishment
6. Mistake of fact hypos
a. A statute that prohibits knowingly taking the property of another
i. Crime = knowingly taking the property of another
ii. You need to know that you are taking the property
1. But do you need to know that you are taking the property of another?
a. Yes, because there is nothing wrong with just taking property
b. Taking the property of another person is what makes an act wrong
b. A statute prohibits using an AK-47 within 1000 feet of a school
i. Was being within 1000 feet of a school material?
1. Maybe
a. There’s no mens rea requirement about the 1000 feet of a school
b. Is firing an AK-47 is wrong itself?
xi. Strict Liability: offenses with no mens rea requirements; D is guilty of a crime, even if he honestly and reasonably believed his conduct was proper
1. Reasons for strict liability doctrine
a. Industrial revolution
b. Concerns regarding public safety
c. Increased regulation
d. Burden on system of proving mens rea
2. Indicators of strict liability crimes
a. No mens rea language in statute (beware)
b. Legislative history
c. Public policy/other indicators
i. Public welfare offenses
ii. Regulated, high-risk industry
iii. Low punishment
iv. Number of cases
v. Health and safety
3. Balint case
a. D’s were selling opium and coca
b. D’s claimed they didn’t know it was illegal to sell them
c. The court says it doesn't matter
i. The act’s manifest purpose is to require every person dealing in drugs to ascertain at his peril whether that which he sells comes within the inhibition of the statute, and if sells the drugs he has to be weary
4. Morrisette - important case, really illustrates the general rule of strict liability
a. Accused of taking the bomb shell casings and repurposing them and selling them for money
b. They said no mens rea necessary - strict liability crimes
c. SC said that for public welfare offenses, no mens rea language required
i. Heavily regulated
ii. Health and safety
iii. Too many cases
iv. Violation of traffic
v. Low punishment
vi. Minimal stigma

d. IF IT IS A STRICT LIABILITY CASE, NO MENS REA IS REQUIRED
e. IF MENS REA IS REQUIRED, MISTAKE OF FACT DEFENSE WORKS
5. Staples v. United States
a. D was charged with violating the firearms act
b. D possessed a weapon that had characteristics of an automatic weapon that needed to be registered
c. D argued that he didn’t know it was that type of weapon
d. The court argued that this was a strict liability case
i. Could be a health and safety issue
e. Thomas says you have to be aware, not strict liability
f. The sentence for a person who broke this law was 10 years; that's a lot
g. Thomas says that the punishment is too big, and that this person shouldn’t be grouped in that punishment
6. Vicarious Liability
a. Strict liability for another person’s crime
b. State vs. Duminga
i. The restaurant served alcohol to an underage 17 year old woman and two underage cops
ii. They charged the woman who served them and the owner
iii. The owner is charged with vicarious liability
1. Automatically responsible for a third party’s crime
iv. The court does not agree with vicarious liability
1. This goes against due process
v. But this case is an outlier
xii. Mistake of Law: general rule is mistake of law is no defense
1. Rationale for the general rule
a. Everyone would argue it
b. Know the laws from living in society
c. Don’t want to penalize those who know the laws
d. It is not true that everyone has the same culture and same laws
e. But we have this idea that to run as a general society, we have general laws
f. Cultural differences come into play in sentencing
2. People v. Morrero
a. Was arrested for having an unlicensed pistol
b. He thought that he was allowed to have one because he was a federal corrections officer, which he thought would fall in the category of peace officer
c. Initially they dismissed the case because they thought he read the statute correctly
d. Government appeals, and the appeals overturns saying his defense was accurate
e. He ends up losing his argument of mistake of law
3. Exceptions for mistake of law
a. Negates element of offense
i. Weiss case
ii. Liparota case
b. Estoppel Theory, MPC 2.04 (3)(b)(i) - (iv)
i. Official misstatement of law
1. If they actually wrote the law wrong, you can rely on that
ii. Judicial decision
1. When the judges say you can do it, and then they change their mind, you can rely on what they said
iii. Administrative order
iv. Official interpretation
c. Not notice because regulatory offense with affirmative duty
i. Lambert case
1. Supposed to register when she entered California because she had been convicted of an offense before
2. No notice for her to register
3. This is an omission and regulatory offense
4. If you wouldn’t have otherwise known, you can’t punish
5. The dissent
a. We don't make a distinction in law between what you do and don’t have to do
b. He feels confident that this decision was just a small deviation and isolated event
4. Exception #1: Lacks mens rea for the offense/negates element of offense
a. Liparota case
i. It is a crime to knowingly use food stamps in an (a knowingly) unauthorized manner
ii. Whoever knowingly uses food stamps in an unauthorized manner
iii. You have to know that your are using the food stamps in the unauthorized way
iv. Willfully in an unauthorized manner - need to know what the law is 
b. People v. Weiss
i. It is a crime to confine someone (knowing it is) without authority
ii. Weiss thought he was legally allowed to bind the guy
iii. Court gives him the mistake of law defense
iv. There are some crimes where if you are violating the law, you need to know you are
v. So the mistake of law defense negates the element of the offense
vi. The statute in this case said you willfully need to do it
1. So if you need to know the law, and you mistake the law and therefore don’t know the law, you can't be charged with violating the law
2. Willfully… w/out authority
5. Exception #2: Estoppel Theory/Misled by govt. 
a. Official misstatement of law
i. If they actually wrote the law wrong, you can rely on that
b. Judicial decision
i. When the judges say you can do it, and then they change their mind, you can rely on what they said
c. Administrative order
i. If a government agency changes their mind not on you
d. Official interpretation
6. Exception #3: No Notice (Lambert Exception)
a. Lambert case
i. Supposed to register when she entered California because she had been convicted of an offense before
ii. No notice for her to register
iii. This is an omission and regulatory offense
iv. If you wouldn’t have otherwise known, you can’t punish
v. The dissent
1. We don't make a distinction in law between what you do and don’t have to do
2. He feels confident that this decision was just a small deviation and isolated event
b. Regulatory offense, no notice, and failure to act
3. Homicide: the unlawful killing of another human being
a. AR = the killing
b. MR = IT DEPENDS
i. Will be dividing up depending on levels of MR
c. Circumstances = another human being
d. Malum Prohibitum
i. It's bad because we prohibit it (misdemeanor)
ii. Punishable by less than or equal to one year in prison
e. Malum in Se
i. Crimes in themselves (felony)
ii. More than one year in prison
f. Levels of Homicide
i. First-degree murder: premeditation
ii. Second-degree murder: Malice
iii. Voluntary Manslaughter: HOP/Provocation
iv. Involuntary Manslaughter: Negligent Homicide
g. First-degree murder: requires premeditation
i. Carroll Approach: Purposeful
1. Any cool moment of deliberation
2. Commonwealth v. Carroll
a. Carroll was an army man
b. Wife was abusive to kids
c. Carroll shot his wife twice in the back of the head during a heated argument
d. He tried to dispose of the body afterwards
e. Didn’t seem like he had a good plan for disposing of the body
f. Brought his kids to his parents house right after
g. The issue in the case was whether it was 1st or 2nd degree murder
h. The punishment is a lot different between 1st and 2nd degree
i. D argues that there wasn’t sufficient time for premeditation
j. D argues that his crime of one right on the spot, not something premeditated
k. D presented evidence from a psychiatrist that his crime wasn’t one of premeditation
l. Arguments against D
i. D thought about it, had a weapon, had a plan for using it, he had a motive
m. Arguments for D
i. Purpose is clear thinking, the D was in a range
ii. He didn’t put gun in the room purposely, wife asked him to put it there
iii. Clean up was horrible - clearly not premeditated
n. Court holds that it was first degree murder
i. They say that you can form premeditation in an instant
ii. On the spot, was it your goal or aim to kill the person
ii. Guthrie/Anderson Approach: Purposeful +
1. Something more than instantaneous
2. Preconceived design (cool, reflection)
3. Anderson case - rage kill, so not first degree but rather second degree
4. Guthrie case
a. Gets charged with first degree murder after stabbing a coworker
b. Co worker had been teasing Guthrie
c. D argues bad jury instructions
i. Improper because the terms wilful, deliberate, and premeditated were equated with a mere intent to kill
1. Sounds like the court have the Carroll instructions
d. This court argues that those instructions were wrong
e. They have a different idea of what premeditated means
f. Guthrie (Anderson) approach
i. There must be some evidence that the defendant considered and weighed his decision to kill in order for the state to establish premeditation
ii. There must be some reflection
iii. Purpose + calculated
g. They are worried that the carroll method blurs the line between first and second degree murder
5. Anderson case
a. Brutally kills the daughter at the house he is living at
b. Gets convicted of first degree murder, appeals and gets thrown out
c. Goes to SC of California
d. Issue is if it was 1st or 2nd degree murder
e. He stabs the girl over 60 times
f. He locked all the doors
g. Tries to hide the body
h. Chases the girl all over the house
i. Anderson is living in the house with this family, three kids at the house
j. The court holds that it was 2nd degree murder
i. Says the evidence is insufficient to support a finding of premeditation and deliberation
ii. The intent to kill must be formed upon a pre-existing reflection
iii. They are looking for three things
1. Planning
2. Motive
3. Manner
iv. Because of all the post mortem wounds, the court sees it as a rage kill
v. You could make an argument for planning and motive
vi. But it doesn’t seem like a cold blooded, calculated murder
k. Justice who wrote this case did not like the death penalty
i. He had a very high alcohol level
ii. Justice did not feel that this case warrented the death penalty
iii. Premeditation
1. Planning
2. Motive
3. Manner 
a. The more the manner shows that you had reflected in a preconceived design
h. Second Degree Murder: Second-degree murder is defined as a killing with malice but without premeditation
i. Intent to kill
1. Inferred from D’s actions or statements such as shooting a gun directly. 
ii. Intent to cause GBH
1. Serious intended injury that may not pose an immediate threat of death such as loss of consciousness, bone fracture, disfigurement 
iii. Gross recklessness (implied malice)
1. D created an unusual high and unjustifiable risk, i.e. D realized the risk and still acted with gross disregard for human life
i. Voluntary Manslaughter: HOP/Provocation
i. Actual Heat of Passion (subjective standard)
1. D must be provoked
ii. Legally Adequate Provocation
1. Girouard case - words alone are not enough
a. Wife says she did not want to ever marry his husband, that he was bad in bed, and reminded him of her dad
b. Wife keeps asking what are you going to do about it
c. Husband takes a knife and stabs her 19 times
d. 19 times stabbing someone looks like rage
e. He had an intent to kill, so charged with 2nd degree murder
f. He argues that he should be charged with manslaughter
g. Is this legally adequate provocation?
h. This case is in front of a judge instead of jury
i. Were the words alone adequate provocation?
i. Court says no
j. Girouard did not see the act, so no adultery
k. Even if we had a reasonableness standard, words alone would not be enough
i. Were talking about homicide - words can’t be enough
2. Maher case - word of mouth not enough
a. Man follows his wife with another man go into the woods, and walk out together 30 min later
b. The man’s friend also told him they had sex the day before
c. Man tries to kill the guy having sex with his wife
d. Should this be manslaughter?
e. Judge didn’t let the jury hear the evidence he presented that his friend told him about the affair
f. Court lays out a different approach to legal provocation
i. A reasonable provocation
g. Dissent
i. You’re opening the door with this method; you may not like what comes in through the door
3. Categorical approach
a. Adultery - have to actually see it though
b. Assault
i. Seeing your loved one being assaulted counts
4. Reasonable person approach
a. Camplin approach: obj./physical characteristics
i. Camplin case
1. Older man had sexually assaulted a young boy, who took a large metal rod and killed the man
2. The court rules that they should put him to the reasonable standards/emotional characteristics of the boy, vs. a man
3. Physical, objective characteristics
a. Age
b. Gender
c. This rule is a lot more tangible, easier to imagine because people have experienced it
4. Many courts will go with this standard, because it is a little more objective
b. Reasonable person with the defendant’s objective emotional characteristics
i. Casassa case
1. Casassa wanted a court trial - doesn’t want a jury caught up in the emotions of the case
2. His argument was extreme emotional disturbance
a. Subjective
b. Putting yourself in the defendant's emotional characteristics
3. He lost this case
4. There wasn’t a reasonable explanation for why he was emotionally off
5. EED
a. Extreme emotional disturbance
b. A reasonable explanation or excuse
6. Casassa did not have the second part
iii. Inadequate cooling time
1. The common-law view is that a significant lapse of time between the provocation and the act of killing renders the provocation inadequate as a matter of law and therefore deprives the defendant of the right to an instruction on voluntary manslaughter
2. Long-smoldering
a. The heat of passion has escalated since the provocative act
b. Building up of heat of passion, repeated taunting
3. Rekindling
a. Reminders of the provocation rekindle the heat of passion
b. Reminders of provocation rekindle D’s passion
j. Involuntary Manslaughter - Involuntary manslaughter is an unintentional homicide committed without due caution and circumspection; it requires mere recklessness or gross negligence
i. Recklessness
ii. Gross Negligence
iii. Dangerous weapon doctrine - only for Involuntary Manslaughter
1. When using a dangerous weapon, no need to prove gross
a. The magnitude of risk already so high
2. Welansky case
a. Fire breaks out at a nightclub owned by the D
b. Welansky not even at the nightclub though, he’s in the hospital when the fire happens
c. The AR in this case is the omission of failing to have safe access there
d. D has a duty because he owns the nightclub
e. Was the jury properly instructed as to what the MR was? - this is the big issue
f. So what is the MR required for this crime?
g. They mean a really bad definition of negligence in this case
i. Doesn’t matter how stupid you are, if you should have known that is the important part
iv. Extreme/Gross determination
1. How do we decide if something is grossly negligent
a. The magnitude of risk
i. Type of danger
ii. Likelihood of harm
b. Social Utility
i. Was there any benefit to the general population
ii. What were the costs of alternatives
v. For gross negligence/recklessness
1. Step 1 is did the defendant realize the risk, or should they have realized the risk
a. Did realize - reckless
i. Either murder 2, or involuntary
b. Should have realized - negligence
2. Step 2 is was it gross - need to look at the magnitude of risk
a. Type of harm
b. Likelihood 
Vs.
c. Social benefit
i. Benefit
ii. Alternatives 
k. MPC 
i. Murder 
1. Purposeful, knowing, extreme indifference (same as gross recklessness)
ii. Manslaughter: extreme emotional disturbance - basically the cassassa approach
1. Factors
a. Extreme Emotional Disturbance
i. The particular defendant must have acted under the influence of extreme emotional disturbance
b. Reasonable explanation or excuse for EED
i. There must have been a reasonable explanation or excuse for such extreme emotional disturbance, the reasonableness of which is to be determined from the viewpoint of a person in the D’s situation under the circumstances as the D believed them to be
2. Differences from C/L approach
a. No act of provocation necessary
b. No issue of cooling time
c. Very subjective approach
iii. Negligent homicide - involuntary manslaughter equivalent
1. MPC -> Extreme indifference to human life
l. Misdemeanor Manslaughter
i. General Rule: If a death occurs during the commission of a non-felony, it is involuntary manslaughter
ii. Limitations
1. Dangerous
a. Some jurisdictions require that the misdemeanor is inherently dangerous
b. Another approach is to limit the doctrine to misdemeanors that rise to the level of criminal negligence, or to violations that evidence a marked disregard for the safety of others
2. Malum in Se
a. Some courts restrict the unlawful-act doctrine to malum in se as opposed to malum prohibitum misdemeanors
b. i. Malum in se: A violation is wrong in itself à M-M. Applies
c. - Example: D violated a safety ordinance requiring dogs be restrained at all times, while his dogs were not restrained and killed a passing jogger
d. ii. Malum Prohibitum: Regulatory purpose and not designed to protect the safety of others à M-M does not apply
e. - Example: Expired driver license
3. Proximately Related
a. Case held that the expiration of the license had no causal connection to the accident, which had resulted from the carelessness of another driver
iii. The basic doctrine
1. In many states a misdemeanor resulting in death can provide a basis for an involuntary manslaughter conviction without proof of recklessness or negligence
2. The misdemeanor - manslaughter rule, also known as the unlawful - act doctrine, was reflected in the traditional common - law definition of involuntary manslaughter
3. Cal Penal Code: Involuntary manslaughter is a killing in the commission of an unlawful act, not amounting to a felony; or in the commission of a lawful act which might produce death, in an unlawful manner, or without due caution and circumspection
4. Two theories available to establish involuntary manslaughter under traditional common - law formula
a. Involuntary manslaughter on the basis that the D’s conduct amounted to criminal negligence under the circumstances
b. Unlawful-act doctrine, need only show that the D’s unlawful act caused the death; proof of criminal negligence becomes unnecessary
m. Felony Murder
i. General Rule: If death occurs during a felony, it is murder
1. Special Felonies (BARKRM) = M1
a. Burglary, arson, rape, kidnapping, robbery, and mayhem
2. All other qualifying felonies = M2
ii. Best defense against F-M rule is defend against the underlying crime
iii. MPC REJECTS THE F-M
1. But creates a rebuttable presumption of extreme indifference to human life when death occurs during a felony
2. So basically would just add to evidence of evidence of murder under MPC
iv. Serne case
1. D tried to commit insurance fraud by burning down his house
2. He escaped with his wife and daughters
3. But his son, who he took out insurance on and who had a mental disability, burned and died in the fire; other son dies as well
4. Two fires broke out
v. Note
1. Felony murder is a substitue for malice
2. Use felony murder after applying traditional intent approach
vi. Rational for felony murder rule
1. Historical
a. Back in the day, all felonies were punishable by death
i. So they didn’t care to just tie in the other crimes
2. Already up to no good
3. Want felons to be extra careful
vii. Criticisms of felony murder rule
1. Legal fiction
2. All felonies are no longer punishable by death
3. Bad luck principle
4. If you really want to deter the felony, increase the penalty for felonies
5. Should you really be held to the same standard of someone who was actually planning on murdering someone
viii. Limitations on felony murder rule
1. Inherently dangerous felony (FM2) - only applies to felonies which are inherently dangerous
a. In abstract (Phillipis case) - can a person only commit the felony in a dangerous way? This favors the defendant
i. Have to look at all the possibilities that a person can be doing
1. How many ways could the D have been using the gun?
2. There could be dangerous ways or non ways in the statute; if there are both, it is not inherently dangerous
3. High probability of death when commission felony?
ii. Is the felony dangerous in the abstract, i.e. are there any other alternatives to commit felony w/o creating risk to human life and thereby not inherently dangerous
iii. People v. Phillips, SC of California, 1966
1. The underlying felony of grand theft is not inherently dangerous to human life to apply the doctrine
2. 8 year old child with cancer died
3. Parents were told to remove the eye, another doctor (the D) told them not to and that he could cure her without surgery
4. He charged them a lot of money, and then the child died six months later
5. In TC, judge instructed the jury that it oculd convict of 2nd degree murder if it found that the D committed the felony of grand theft and that the child died because of it
6. The SC of California reversed, finding the instruction on felony murder to be wrong
a. Previous California cases ahd ruled that the felony-murder rule could be triggered only by felonies inherently dangerous to life
7. The prosecution admitted that grand theft is not inherently dangerous to life
8. They would characterize that conduct as grand theft medical fraud, and this newly created felony, clearly inovlves danger to human life and supports an application of the felony-murder rule
9. But to fragmentize the course of conduct of D so that the felony murder rule applies if any segment of that conduct may be considered dangerous to lifew ould widen the rule beyond calculation
10. It would then apply to the perpetration of any felony during which D may have acted in such a manner as to endanger life
11. Therefore, the felony-murder insturction should not have been given
12. Doctor is convicted of second degree murder
13. Underlying felony is grand theft (stole the parents money)
14. SC of California says that this felony does not qualify for felony-murder
15. The underlying felony is not inherently dangerous
16. So the prosecution tries to argue that its grand theft medical fraud
a. They thought this would make it more likely that it was dangerous
b. As applied (Hines case) 
i. Was this felony dangerous as committed?
ii. Hines v. State, SC of Georgia, 2003
1. While hunting, Hines mistook his friend Steven for a turkey and shot him dead
2. A jury convicted Hines of felony murder based on the underlying crime of possession ofa firearm by a convicted felon, but acquitted him of a felony-murder count based on the underlying felony of misue of a firearm while hunting
3. Hines contends that a convicted felon’s possession of a firearm while turkey hunting cannot be one of the inherently dangerous felonies required to support a conviction of felony murder
4. But, Hines intentionally fired his shotgun intending to his his target, had been drinking before and drinking during the hunting
5. He took an unsafe shot at dusk, through heavy foliage, at a target 80 feet away that he had not positively identified as a turkey
6. Under these circumstances, the court concludes that Hine’s illegal possession of a firearm created a foreseeable risk of death
7. Underlying felony is a felon in possession of a firearm
8. In the abstract, that felony isn’t really inherently dangerous
9. But when you apply how it was
10. Dissent
a. Consludes that for purposes of their felony-murder doctrine, a felony is inherently dangerous per se or as committed if it carries a high probabilibty that a human death will result
b. This case does not establish that Hines’ acts created a high probability that death to a human being would result, or that he had a life threatening state of mind
c. The sanction of life in prison for muder should be reserved for cases in which the defendant’s moral failing warrant such punishment
i. here , the application of the felony-murder statute to Hines’s actions punishes him more severly than his clupability merits
2. Independent Felony (FM2) = Merger Rule
a. Is this felony an integral step toward killing someone?
i. If the underlying felony is just a step in the kill, it doesn’t count
ii. Look at definition of felony
iii. Is there a separate purpose in committing the felony? (e.g., robbery, arson)
iv. Does it already require proof of malice (under circumstances likely to cause grievous bodily harm)
b. Burton case
i. Armed robbery, D killed someone during the robbery
ii. Isn’t it inherent that an armed robbery will include the arming
iii. Argues that armed robbery was inherent in the offense of murder, so basically convicting him twice
iv. Brings up Ireland case
1. D claimed that for the underlying felony, he didn’t have the intent to kill because he was too messed up
2. But the court is saying to the jury don’t worry about the intent, because you don’t need it for the F-M doctrine
v. Robbery is defined as taking property by use of force and violence
1. Sounds pretty dangerous
vi. The purpose of the big 6 are independent of the murder
c. Involuntary manslaughter is a felony
i. Without this rule, every IM would be murder 1 since a murder happened in the process of felony
3. During the course of and in furtherance of the felony (All FM)
a. During the course of the felony
i. Planning -> Apprehension/safety
ii. - Attempted Escape: killings that occur while escaping are considered during the course of the felony
b. In furtherance of the felony
i. Agency theory - killing must be done by the felon or co-felon
1. Under the agency theory, the identity of the actual killer becomes a central issue
2. Advocates of the agency theory suggest that no culpable party has the requisite mens rea when a nonparticipant is the shooter
ii. Proximate cause theory - felon is responsible for any death which is a proximate cause
1. The contrary view would attach liability under the felony-murder rule for any death proximately resulting from the unlawful activity-even the death of a cofelon-notwithstanding the killing was by one resisitng the crime
2. Under the proximate-cause theory, the central issue in whether the killing is within the foreseeable risk in committing the felony
iii. Provocative Act/Vicarious liability doctrine (technically, NOT F-M)
1. If you can’t use the F-M rule (a lot of times in agency jurisdictions), this rule comes into play
2. You can say malice, because they create and atmosphere of malice
3. Shooting at a police officer, you create an atmosphere of malice
4. What they are doing is basically using the proximate cause theory without saying those words
5. Felons’ provocative acts created an atmosphere of life-threatening violence, thereby showing malice
6. - Example: Gun Battle 
7. - CA uses agency theory w/ provocative act doctrine as back up
ix. Felony Murder Approach
1. Identify Underlying Felony (if there are multiple crimes, make sure to pick the right one for the situation)
2. General Rule
3. Limitations
a. Inherently dangerous?
b. Independant?
c. During the course of an in furtherance?
x. Notes on the scope of the felony-murder rule
1. Judge Stephen from Serne case presented a hypo very similar to the facts of the Stamp case, and did not think it was felony-murder
2. In the US, courts have adopted a broad, unqualified felony-murder rule, believing that it was part of the English common law at the time of American independence
3. The Stamp case illustrates the view generally accepted in American courts
a. The felony-murder rule imposes strict liability for killings that result from the commission of a felony
i. It holds felons liable for murder without proof of any mens rea
1. Neither knowledge nor recklessness nor negligence is required with respect to the resulting death
xi. Notes on the rational of the felony-murder rule
1. We have previously examined the proposition sometimes asserted that the mens rea of a lesser offense may substitute for the mens rea of a greater offense
a. It is this proposition that serves as the basis of liability in felony murder
xii. What happens if a co-felon is killed?
1. Some jurisdictions: no felony murder doctrine because they had it coming
2. Other jurisdiciton: felony murder applies because their lives aren’t worthless
xiii. Rationale
1. Deterrence
a. Deterring felons from killing, even accidently, during crimes
b. But make the underlying felony punishment worse
c. How do you deter an accidental death?
2. Retribution
a. Vindicating society’s loss when a felony results in death
b. Someone died, so there has to be some retribution
3. Incapacitation
a. Easing the prosecution’s burden in cases where the defendant may have killed intentionally but claims the deaths were accidental
xiv. Spectrum
1. On one side, least dangerous felonies
a. Inherently dangerous felony rule protects these from falling in F-M rule
2. On the other side, you have the most dangerous felonies
a. Merger rule protects these from falling in the F-M rule
3. With everything in between, we use the F-M rule
4. The big 6 are always considered inherently dangerous and don’t merge
xv. Felony-murder rule really makes us think about how much people should be punished under this rule compared to people with the real intent
xvi. California last year fine tuned the F-M rule to require that they be a major participant and reckless indifference
n. Causation - required for all crimes that have a result aspect
i. Two elements of causation for C/L
1. But for (MPC=Actual Cause) - Acosta Case
a. Link in chain of causation
b. Need not be only cause
c. Need not be last cause
d. Any link in the chain of causation
e. Acosta case
i. Acosta stole a car and then leads police on a car chase
ii. Was Acosta responsible for the deaths of the helicopters crashing
iii. Acota argued that it was on the helicopter pilot; he was guilty of stealing, but not the homicide
iv. Can’t use F-M because grand theft auto isn’t inherently dangerous
v. So they go for the gross reckless charge to get Murder 2
vi. Acosta loses on the causation argument, but wins on the malice argument
vii. Step 1 in proving causation is proving But For Cause
1. But for Acosta leading everyone on the chase, the helicopters would not have been there
viii. Step 2 is looking at proximate cause
1. Want to look for the foreseeability of the harm
2. Want to look to see if there is an intervening act
ix. The court in this case decides that the accident is not a highly extraordinary result
x. There is no reason to shift the blame from Acosta
xi. If the accident had happened on the ground, would never doubt that it was Acosta’s fault
xii. Acosta case told us there is a two-step process for causation
xiii. The court holds that Acosta is guilty
1. There was causation
2. This wasn’t a highly extraordinary result
3. No need to break the link of causation
4. This wasn’t so extraordinary that we wouldn’t want to punish him
5. Closely related enough
xiv. A couple of issues in the case
1. Mens Rea
a. We don’t have enough that he consciously disregarded the risk
b. He may not have realized the risk
2. Couldn’t use felony-murder
a. Grand theft auto wasn’t inherently dangerous
2. Proximate Cause (MPC=Legal Cause) - “Sufficiently direct” cause
a. Harm foreseeable? (obj)
i. Manner doesn’t have to be foreseeable (e.g., Kibbe)
ii. Arzon case
1. Arzon sets a fire on the fifth floor of an apartment building
2. Firefighters come, try and put out fire
3. Turns out another fire was happening on the second floor as well
4. A firefighter dies during this incident
5. Charge Arzon with M2 based off of gross recklessness
6. Also charged arson, to try and do a felony-murder conviction
7. Arzon loses this case
8. Why are we punishing Arzon?
a. Retribution
b. Deterrence
i. Stop people from setting fires
c. Incapacitation
i. He is dangerous
d. Rehabilitation
e. These are the arguments you make to the jury
f. Purposes of punishment play a role here
9. Kibbe case is referenced
a. Victim is drunk, robbed, left on the side of the road pantsed, and hit by car killing him
b. Robbers definitely a link in the chain
c. There was some foreseeability of harm
d. Seems like victim being hit was foreseeable
e. Who had control in this case? Robbers had some
f. Who do you want to punish more? Robbers
g. Why were the robbers a sufficiently direct cause?
i. They didn’t care
ii. They had the power to stop the harm
iii. Feel retribution towards them
10. It is not necessary that the defendant’s foresee the exact harm that occurred
11. Does the actions of the defendant’s have to be the sole and exclusive factor? No
a. Just has to be a sufficiently direct cause
12. Pantsed and left on the side of the road, without his glasses
13. He is then hit by a truck
14. Does that break the chain of causation, or are the people who put him on the side of the road responsible for the death?
15. Step 1
a. But for the defendants acts, Kibby wouldn’t have been there
16. Step 2
a. The intervening act was foreseeable
b. Who was controlling the act
c. Who do we want to punish
d. Truck didn’t break the link of causation
i. We don’t want to punish the truck driver
ii. Who were the people who really had control of the situation? 
iii. It was the people who left him on the side of the road
iv. We want to punish the people who left him on the side of the road
v. Purposes of punishment
17. Don’t we need to know what the triggering intervening act is if we are going to decide who to hold responsible?
a. Worthlapper case
i. Explosion at a gum factory
ii. People weren’t surprised it exploded, there was some dangerous chemicals there that there was a dangerous condition
iii. They are found not guilty
iv. Prosecution argued that they have but-for causation
v. But the court says that isn’t enough; they need proximate cause
vi. If we don’t know what triggered the event, we don’t have proximate cause
vii. We want to punish the person who really caused the event
b. Intervening act? (Superseding?)
i. Act foreseeable? - If the intervening act was foreseeable, then it is likely not a superseding intervening act
ii. Who could best control?
iii. Who do we want to punish? (policy)
iv. Acts of nature
1. Routine - don’t break the chain
2. Extraordinary - they do break the chain, they are superseding
3. What about the weather in the Kibbe case
a. Let's say Kibbe freezes to death
i. Should that break the chain of causation?
ii. Harm is still foreseeable
iii. The weather needs to not be routine
iv. You can anticipate that, it’s foreseeable
v. If an extraordinary act of nature hits, like a meteor hits
vi. That would break the chain of causation
b. What about leaving Kibby on the san andreas fault and an earthquake hits which swallows him up
v. Acts by another person
1. Victims
a. Victims who voluntarily bring harm to themselves break the chain of causation
b. Victims who act involuntarily or without autonomy have not made an intervening act (e.g. woman trying to escape has not broken the chain of causation
c. Conditions - don’t break the chain
i. Vulnerable victim
ii. Someone robs someone who has a condition
iii. Another person would have been fine, but this person has a heart attack
iv. There is but-for cause
v. Does the victim’s condition break that chain of causation?
vi. We want to have maximum deterrence
vii. The robber has the most control
viii. The robber is the person we want to punish the most
d. Acts - depends on who had control
i. Imagine a scenario where a woman is sexually assaulted, and she jumps out of a window to escape
ii. She dies from falling
iii. Clearly D guilty of sexually assault
iv. But is D guilty of homicide?
v. There was but-for cause
vi. What about proximate cause
vii. Its foreseeable that victims will do desperate things to get away
viii. Who do you want to blame? You want to blame the defendant
ix. He was controlling that situation
x. He is the one we want to punish
xi. Campbell case
xii. Two friends were drinking
xiii. One friend said he was having sex with the other kids wife
xiv. The friend is going to kill himself, but doesn’t have a gun
xv. The best friend says he’ll sell him a gun
xvi. Friend kills himself
xvii. There is but-for cause
xviii. Proximate cause? No
xix. Victim’s act broke the chain of causation
xx. Why does this victim’s act break the chain?
xxi. The victim controlled the situation, because it was suicide
xxii. The victim’s act breaks the chain of causation
2. Medical Care
a. Ordinary neglect - doesn’t break the chain
i. In hospital, victim gets a staph infection and dies
ii. Does that break the chain of causation?
iii. Defendant had control
iv. Act is kind of foreseeable
v. Probably doesn’t break the chain of causation for the defendant
b. Gross neglect/intentional maltreatment - does break the chain, is superseding
i. Doctor says i could take care of you, but says I want you to die
ii. Does this break the chain of causation?
iii. Could probably go after doctor for homicide
iv. But is it an intervening act? probably
v. Not really a foreseeable act
vi. Probably breaks the chain of causation for the defendant
vi. Additional perpetrator
1. Related - doesn’t break the chain
2. Unrelated - may be independent, intervening act
ii. Stephenson case
1. Stephenson was one of the most powerful men in America at the time
2. Grand dragon of the KKK in Indiana
3. Gets accused of murder having taking a girl captive
4. Stephenson kidnaps the girl and sexually assaults her
5. Victim finds poison and takes it 
6. She dies of multiple factors, but the poison is one of the key factors
7. Stephenson argues that it wasn’t her fault, since she took the poison without his knowledge
8. She broke the chain of causation, she had control
9. He is convicted of murder on felony-murder charge
10. Key issue in this case
a. Whether this was the victim committing suicide
b. Or whether Stephenson was the cause of her death
c. Causation
i. There was but-for cause
ii. Proximate cause - probably there
1. The harm was foreseeable
2. Break in the chain
a. Stephenson had control
i. When she got the poison, one of stephenson’s guys was with her
ii. She is never physically or emotionally in control
b. Who do we really want to punish? Stephenson, have to think of purposes of punishment
11. Court holds that, even when the victim went home to die, Stephenson had absolute control
12. Reference a couple cases
a. Volati case
i. She jumps out the window to escape her attacker
1. Doesn’t break the chain of causation
2. The defendant still controlled the victim
b. Pressler case
i. The victim’s act did break the chain of causation
ii. She ran to get away from defendant, goes to her father's house
iii. The victim falls asleep outside and dies from exposure
iv. The court blames the victim
1. The victim doesn’t go inside the door to her father’s house
2. She didn’t want to wake up her parents
iii. Complimentary Human Action (Joint Enterprise)
1. Drag racers
a. Root and McFadden cases - drag races
i. Root - the other driver dies
1. Do we blame the surviving guy of drag race, or the driver
2. Convict the driver, because only the driver dies
3. Is Root the cause of the death of his co-drag racer?
a. There is but-for cause
b. Is it foreseeable someone will die? Yes
c. The dead guy is the guy we want to punish more
ii. McFadden - he kills another random girl
1. Convict the other guy, because an innocent girl dies as well
2. The act is foreseeable
3. This guy had control
4. We feel that someone needs to be held responsible
2. Russian roulette
a. Atencio case
i. Russian roulette case
ii. AR - omission potentially, encouraging
iii. MR - reckless 
iv. Now potentionally have gross recklessness, which would be murder 2
v. Concerted action
1. The D’s fingers were just as much on the trigger as the victim who pulled the trigger
3. Mutual encouragement
iv. Transferred Intent
1. Bad aim situations
a. Under the common law, you are punished by the person you hit
b. Under the MPC, you are punished by the person you intended to hit
i. Sometimes the person you kill has a higher punishment then the person you intended to (police officer vs. a regular person)
2. Issue
a. Punished for harm intended or harm caused?
4. Anticipatory Offenses
a. Attempt - a defendant cannot be found responsible for both the commission of the crime and its attempt
i. MR - Purpose (MPC: as believed (knowingly))
1. MPC Code 5.01(1)(b) - Adds the phrase “or with the belief it will cause” -> really make it knowingly
ii. AR
1. First step - probably too soon
a. Could always change mind
2. Last step (Eagleton case) - might be waiting too long
3. Dangerous Proximity (Rizzo case) - most used C/L approach
a. What has the defendant done?
b. What does the defendant have left to do?
4. (Un)equivocality Test (res ipsa loquitor) (McQuirter case)
a. The act speaks for itself 
b. The act shows you were going to do this
5. MPC: substantial step strongly corroborative of intent
a. A combo of dangerous proximity and equivocality
iii. Abandonment (Old C/L, no; Modern C/L & MPC, Yes)
1. Abandoned criminal effort
2. That his abandonment was full and voluntary
3. Complete renunciation 
a. Not motivated by (complete renunciation)
i. Fear of getting caught
ii. Postponing for a more advantageous opportunity
4. Gives a defendant an affirmative defense
iv. Inchoate crimes - crimes where you tried to commit it, but haven’t succeeded
v. If you attempt, the culpability and blameworthiness is there
1. The purposes of punishment kick in
vi. Sometimes we punish attempt with half the punishment (California); sometimes it’s the same punishment (federal)
1. Half-punishment - not as much retribution because you haven’t actually done the crime yet
2. Full-punishment - the perpetrator is just as dangerous as the person who committed the actual crime
vii. We need the rules of attempt to be strict because you can be punished just as much for an attempt as you can for the actual crime
viii. If there is no MR for the actual crime, you don’t need it for the attempt
1. Statutory rape is a strict liability crime, so don’t need the MR for the attempt
2. No attempted murder for involuntary manslaughter or felony-murder
3. But there is attempted murder for voluntary manslaughter
ix. What about crimes with attending circumstances (assaulting a police officer)
1. If you didn’t need a MR for the committed crime, don’t need it for the attempt
b. Impossibility - impossibility is when defendant has done everything possible to commit a crime but factual or legal circumstances prevent it from occurring
i. Is defendant guilty of attempt?
1. MR - purpose
2. AR - last step
ii. Is it factual or legal impossibility?
1. Factual impossibility - no defense
a. It is not possible to commit the crime because…
b. Should it be a defense that it was impossible to steal from a person because they didn’t have anything to steal?
i. Guilty of attempted theft
c. Dlugash case
i. Guy is shot, and then another guy in the room (after waiting a few min) also shoots the guy
ii. The defendant thinks that the victim is dead when he shoots him
iii. No one knows if the victim was dead or alive when shot by the defendant
iv. The court in this situation goes with factual impossibility
2. Legal impossibility - is a defense
a. It is legally impossible because it is not a crime to….
b. Jaffe case
i. Defendant tried to buy cloth that he thought was stolen
ii. But the cloth wasn’t actually stolen
iii. The court calls this legally impossible defense
iv. How can you buy stolen goods if they are not stolen?
v. Really could have been labeled factual impossibility also
vi. In this case, the court really didn’t think that the act in this case wasn’t that harmful, so went with legal vs. factual impossibility
iii. MPC approach
1. If the circumstances were as D believed them to be, would there be a crime?
2. Should charge be mitigated or dismissed because D or D’s actions pose little risk of violating the law or danger to others?
5. Accomplice Liability
a. Accomplice Liability: not a separate crime, but a theory of guilt
i. AR - Help (C/L)
1. Mere presence (just being there) might not be enough, unless you have a duty to interfere
2. Any minimal help is enough
3. Just have to do something that could help
a. Concerned with group criminality
4. Mere presence isn’t enough
a. But doing minimal acts such as clapping are enough to do the AR
ii. MR - (C/L)
1. Knowingly help; and
2. Purpose for the crime to succeed
a. How do you prove purpose?
i. Stake in the venture
ii. Connection between principal and accomplice
b. Other crimes that are “Reasonably foreseeable crimes” (just C/L not MPC)
i. Using this doctrine, you are dropping the MR level down to negligence
1. One you become an accomplice, you are guilty for reasonably foreseeable crimes that come from that crime
c. Negligence crimes? - accomplice just needs same MR (negligence)
i. There’s no way you can have the purpose for a negligent crime
ii. So all you need is the negligence MR as an accomplice
d. Strict liability elements - split
e. Serious felonies - some courts will say knowing (but that is definitely the minority approach)
i. Fountain case
1. Silverstein walks by the other inmate Gometz, and gets the knife and kills the guard
2. The convict Gometz, saying that knowingly was enough instead of purposely 
3. If you’re knowingly giving a killer a weapon, what else is your purpose?
4. For some very serious crimes, knowingly is enough
iii. MPC
1. Sticks with purpose 
2. The MPC says it is not enough to know your actions will help the crimes; it has to be your purpose
a. Because we incidentally help crimes occur all the time
3. If a crime only needs negligence for the principal, it will only require negligence for the accomplice
iv. Accomplice liability is a theory of how you are responsible for a crime, not a separate crime itself
v. If you use people to do the crime, you are still responsible for that crime not the person you used for your own ends
vi. Nuances of Accomplice liability
1. Mens Rea
a. Effect of help is not enough; mere presence generally not enough
b. Must be purposely, not just knowingly
c. Don’t need to know things that the principal does not need to know
d. Negligence crimes only require negligence
e. If different crime committed, need to determine if “reasonably foreseeable” or “natural and probable” result
vii. Actus Reus
1. Don’t need much
2. Encouragement sufficient
3. Principal need not know person is aiding
4. Presence is enough if prior agreement
viii. Principal need not be convicted
1. Culpable, but unconvicted, principals
a. Immunity
b. Separate defenses
c. Separate juries
ix. Modern statutes 
1. Apart from the accessory after the fact, who is still generally subject to a lesser punishment, the punishment is the same for principals and accessories
2. It is no longer the case that accessories cannot be convicted until their principal is convicted
3. It is no longer necessary in most states for a defendant to be charged as an accomplice; the D may simply be charged with the substantive crime committed by the person he or she allegedly aided or encouraged
x. C/L
1. Principal 1st degree - actual perpetrator
2. Principal 2nd degree - accomplice/aider & abeitor
3. Accessory before the fact - accomplice/aider & abeitor
4. Accessory after the fact - help after the crime
a. For the first three categories, all guilty of the same crime
i. Eligible for the same punishment, but might get something different at sentencing
1. But mandatory provisions can cause a problem
6. Conspiracy - an agreement between two or more people to commit a crime
a. Conspiracy - It is an inchoate crime
i. It is punishable whether or not the agreed-upon offense ever occurs
ii. Conspiracy is generally punishable separately and in addition to the completed offense
iii. Elements C/L and MPC
1. AR 
a. Agree
i. Need not be an express agreement
1.  Demonstrated by words, actions, similarly motives or gestures
ii. Tacit, implied agreements okay
iii. Shown by concerted action
iv. All co-conspirators need not agree at the same time or know each other
2. MR
a. Intend to agree (knowingly agree)
b. Purpose for the crime to succeed - this is the crucial part that becomes hard to prove
i. Must have purpose
ii. Proving purpose through direct evidence
iii. Proving purpose through inferences (knowledge+)
1. Stake in the venture
2. No legitimate use (business's success depends on illegal activity)
3. Grossly disproportionate volume
4. Inflated prices
3. Overt act
a. Any act (need not be unlawful) to show conspiracy is moving forward
b. May be committed by any conspirator
c. Only need one
iv. “Two or more persons”
1. Gebardi rule
a. Does not include persons protected as “victims” under statute
b. Gebardi case
i. Mann act is intended to stop people from bringing prostitutes across state lines
ii. Man and woman take train across multiple state lines, they are having sex along the trip
iii. Man gets charged with conspiracy to violate the Mann Act, and violating the Mann Act
iv. The girl doesn’t qualify as a co-conspirator because that law was designed to protect her
v. Because he was therefore the only one involved in the act, he couldn’t be charged with a conspiracy
2. Wharton rule
a. Do not charge conspiracy when crime necessarily requires two persons (up to the legislature)
b. MPC REJECTS THIS RULE
3. Bilateral/Unilateral
a. Bilateral - Fed./Cal.
i. You need two people to commit the crime (De Bright Case)
b. Unilateral - MPC (Garcia case)
i. Don’t need two people to commit the crime
ii. Just need one person who believes they are conspiring to commit the crime
b. Co-Conspirator Liability
i. Pinkerton
1. Co-c automatically guilty of criminal acts of co-conspirators in furtherance of conspiracy
2. What’s your in, you’re in
3. Need not do anything to help
4. Need not even know co-c will commit that crime
5. No Pinkerton liability for overt acts done by the conspiracy group before you joined
a. Not retroactive
6. Pinkerton Case
a. Violations of IRS code
b. Daniel Pinkerton in prison, Walter Pinkerton not in prison
c. Walter keeps making it
d. Charged with conspiracy and substantive offenses
e. How could he be an accomplice while in prison?
f. Co-Conspirator Liability
i. You are agents of each other
ii. You are automatically liable
g. Once you join a conspiracy, all of the prior actions are on you
h. There was a dissent in this case
i. You either get Daniel with accomplice liability, or just conspiracy
ii. Not the ongoing activity
7. Contrast w/ Accomplice Liability
a. Accomplice liability requires purpose to assist and act of assistance
b. Co-Conspirator is broader b/c applied even if co-conspirator is unaware that the crime is being committed
8. MPC rejects Pinkerton
a. Accomplice liability for conspirators for the substantive crimes of their co-conspirators only when the strict conditions for accomplice liability are met
c. Scope of Conspiracies
i. Kotteakos/Wheel
1. What connects the spokes? “Common venture”
2. Kotteakos Case
a. 32 defendants, all associated with this guy named Brown
b. Brown is helping all of these people file false loan applications
c. Kotteakos says he is a conspirator with Brown
d. But the government is trying to argue that they are all guilty for the conspiracies everyone else
e. It’s all just one big conspiracy
f. Court say this isn’t one big conspiracy, but rather a bunch of little conspiracies
g. It is a spoke case, without a rim connecting the ends of the spokes
h. They need a stake in each other’s spokes, they need to actually care
ii. Chain
1. Manufacturer
2. Middelman
3. Distributors
4. Bruno case
a. Drug importation case
b. These cases kind of look like chains
c. Everyone involved in the chain is liable for every part of the conspiracy
d. Everyone has a common venture
e. 86 people indicted in this case
f. They tried to claim that there were separate conspiracies between each individual part of the chain
g. But the court said it is a supply chain, and one giant conspiracy
5. Borelli case
a. Heroin importing and distribution case
b. As a manufacturer, you might have multiple importers, multiple distributors, etc….
c. These different chains, the people will argue they are different conspiracies
d. But the court says that they are in one big conspiracy
e. They are all invested in the success of the venture, and it getting from the manufacturer to the retailer
d. Abandonment - I think C/L and MPC
i. Abandonment stops Pinkerton liability, but still guilty of conspiracy
1. Full and voluntary renunciation
2. Must notify co-c
e. Renunciation - I think MPC
i. To avoid conspiracy charge (not available at common law)
1. Full and voluntary renunciation
2. Must notify co-c or police
3. Must thwart
4. Complete defense for the crime and conspiracy, yet not for anything already committed
f. Attempted conspiracy?
i. Just as there can be no attempt to commit an attempt, such as attempted assault, it is usually concluded that under the bilateral formulation of conspiracy there can be no attempted conspiracy
ii. While it is uncommon, some jurisdictions accept the crime of attempted conspiracy
g. When an overt act is a required element, the usual reason for requiring it is explained in Yates v. US
i. The function of the overt act in a conspiracy prosecution is simply to manifest that the conspiracy is at work...and is neither a project still resting solely in the minds of the conspirators nor a fully completed operation no longer in existence
ii. Thus, even when an overt-act requirement applies, it generally can be satisfied by acts that would be considered equivocal or merely preparatory in the law of attempts
7. Defenses
a. Three distinct sorts of defenses can be invoked to bar conviction for an alleged crime
i. The first asserts that the prosecution has failed to establish one or more required elements of the offense
ii. The second and third are justifications and excuses
1. They do not seek to refute any required element of the prosecution’s case, but rather they suggest considerations that negate liability even when all elements of the offense are present
2. It is customary, moreover, to distinguish sharply between justifications and excuses
b. Justifications: made the right decision
i. Self-Defense
1. In that narrow situation, you didn’t really have another choice other than self-defense
2. Elements
a. Honest and Reasonable Fear
i. CL: Reasonable person in the defendant’s position (semi-objective)
1. Physical attributes of defendant and attacker
a. Also race, religion, etc...
2. D’s prior experiences
a. This is where the battered women’s syndrome would come in
3. Circumstances of attack (movements, comments, and past of assailant)
ii. MPC: Defendant believed (subjective)
1. But, no defense to negligent homicide
b. Death or Serious Bodily Harm
i. CL: Strict standard
ii. MPC: Or threat of serious felonies, like kidnapping, rape, and robbery
c. Imminent Threat
i. Imminent vs. Inevitable
1. CL: Strict time requirement - here + now
2. Modern CL: Reasonably believed it was imminent; reasonable person in the defendant’s position
3. MPC: Subjective approach
d. No excessive force
i. Proportional amount of force
ii. Lethal force only when confronted with lethal force
iii. (or under MPC: certain felonies)
e. Duty to retreat (MPC agrees)
i. Only when defendant planning to use lethal force
ii. Only when can be done with complete safety
iii. May stand ground when defending with non-lethal force
iv. No duty to retreat in one's own home (Castle Rule)
v. Divided jurisdictions: some require it, some don’t
1. Even those jurisdictions that do have a duty to retreat, have the Castle rule
a. Rule: No duty to retreat from your own home
vi. Also some places have stand your ground laws
vii. Guests
1. Should the castle exception also be available (so that retreat is not required) when the homeowner kills a guest?
2. Only a few states would require the homeowner to retreat in this situation
3. The great majority permit the homeowner to kill in self-defense
viii. Co-occupants
1. The greatest disagreement arises in situations in which one occupant kills another, such as a spouse or child
2. In Tomlins, Cardozo held that a father being threatened by his son could kill the son rather than retreat
3. MPC endorses this view, as do most of the recent decisions on the issue
4. But some courts require the homeowner to flee if possible when the attacker is a co-occupant
5. The difficulty of distinguishing between a co-occupant and a mere guest led the Minnesota SC to relax its restrictions on using defensive force and to hold that the homeowner was entitled to stand his ground and use deadly force even against a full-fledged co-resident
6. An additional concern for courts that follow this approach is fear that a duty to retreat would adversely affect victims of domestic violence, because for battered women separation or retreat can be the most dangerous time in the relationship
f. Not initial aggressor
i. You should not be able to bring on your own necessity
ii. Initial aggressor vs. instigator
iii. Who escalates to violence?
ii. Imperfect Self-Defense
1. C/L -> if you have an honest, but unreasonable fear, will treat you as if you have emotional distress and only give you voluntary manslaughter
a. This is called imperfect self-defense
i. Imperfect S-D
1. Honest, but unreasonable fear
2. Would get you voluntary manslaughter
2. Under the MPC -> 3.09 -> if you have an honest, but unreasonable fear, MPC drops level of offense down one notch
3. How should the law deal with a person who holds an honest but unreasonable belief in the need to use lethal force?
a. Person comes to conclusion on grossly unreasonable grounds
b. She has killed intentionally and, under the prevailing objective test, she has no defense of self defense
c. Thus, she would be guilty of murder, just like the person who kills for revenge or gain
d. This appears to be the generally prevailing view
4. But several states avoid this result through various doctrines of mitigation
a. One, known as the doctrine of imperfect self-defense, classifies the crime as voluntary manslaughter, on the theory that malice is lacking and that the lesser culpability in a killing of this sort is similar to that in a killing in a heat of passion
b. The other approach, even less common, is to classify the killing as involuntary manslaughter
c. MPC
i. A person who kills in the honest but unreasonable belief in the need to kill would be guilty of negligent homicide
iii. Defense of Others
1. 2 approaches
a. Stand in the other person’s shoes
i. Traditional approach: stand in the other person’s shoes
1. If the other person had right to S-D, you had the right to defend them
b. Reasonable person would have believed that right of self-defense
iv. Defense of Property
1. General Rule: No right to use lethal force to defend property (this is different than if you were home defending yourself, this rule is specifically for defending the property)
a. Life is more important than property
2. Reasonable fear that force is necessary is affected by the circumstances (how they broke in, what they say)
v. Use of Force with Law Enforcement
1. Common law
a. Can only use when person they are chasing is using lethal force 
2. MPC
a. Deadly force is permitted by the officer so long as:
i. So substantial risk to bystanders
ii. The offender poses a serious risk of death or serious bodily harm
vi. Necessity
1. You were in a bad situation; while ordinarily you might have made the wrong choice, given the situation we say it was fine
2. Economic necessity is never a defense
3. Elements
a. Choice of evils - just identify 2 choices
b. No apparent legal alternatives
i. Need to surrender to authorities after a prison escape
c. Imminent threat
i. CL: Here and now
ii. MPC: Relaxed, just a factor
d. Chose lesser evil
i. C/L: Can’t choose one life over another
ii. MPC: You can choose another life over another life
e. Did not bring upon self
i. For MPC, there is no absolute prohibition on self-created necessity
1. A D does not lose her necessity defense even if she created the situation
2. Instead, the D is only responsible for any crimes of recklessness or negligence caused by her actions
f. No contrary legislative intent - the legislators have already made this decision and chosen the lesser harm
4. Life > Property
5. Many lives vs. fewer lives
a. Cannot take life to protect others (most jurisdictions - cannot decide whose life is more valuable)
b. Numbers game (MPC)
c. This is a false equation
d. You are really deciding life vs. life, life vs life, etc…
e. So you are really just deciding who’s life is more valuable
6. Common law: no necessity defense for homicide cases
7. MPC: allow necessity defense for homicide cases
c. Excuses
i. Duress (duress=coercion)
1. Common Law
a. Threat of present imminent harm
i. Here and now
ii. Maybe reasonable person
b. To defendant or close family member
c. Type of harm was death or serious bodily harm
i. Want to use this as a narrow excuse
ii. It’s also an all or nothing excuse, so want it to have a high bar
d. Such fear that ordinary person would yield
e. Cannot bring duress upon yourself
f. No duress defense for homicide
2. MPC: Sliding scale
a. Imminence is just a factor, not determinative
b. Who the duress is to is just a factor, not determinative
i. But closer to the D will help
c. Unlawful force against person (vs. death or SBH for common law)
i. But sliding scale
1. More serious crimes
a. Must be facing a lot of serious threat
2. Less serious crimes
a. Might be facing less serious threat
d. Reasonable person in the defendant’s situation would have yielded
i. Has slightly different language than this but basically the main point
e. Duress upon yourself not equivalent
i. If you were reckless and brought it upon yourself, the MPC won’t let you use it
f. Homicide: perhaps you can have a defense
3. Fundamental difference between necessity vs. duress
a. Necessity is a justification
i. You made the right choice
b. Duress is an excuse
i. We don’t think you are blameworthy
ii. The purposes of punishment don’t apply
4. Contributory fault
a. Cannot bring duress upon yourself
b. If you join a gang, and then want to use duress defense for robbing a bank, you can’t
5. Economic duress is not a defense
ii. Mental Defenses
1. Competency (ability to stand trial - Dusky)
a. Understand proceedings
b. Able to participate
c. Dusky v. United States
i. The test must be whether the D has sufficient present ability to consult with his lawyer with a reasonable degree of rational understanding - and whether he has a rational as well as factual understanding of the proceedings against him
1. This focus on rational and factual understanding, however, typically neglects mood disorders and certain forms of organic brain damage that can unreasonably interfere with decision relevant emotional perception, processing, and expression
d. The Dusky test remains in widespread use, but there is no uniform standard for competency evaluations, and courts differ on whether the defense or prosecution has the burden to prove competency
e. May defendants be forcibly medicated in order to render them competent to stand trial?
i. The SC held in Sell v. United States that the Constitution sometimes permits forced medication to render a defendant competent to stand trial, but suggested that those instances may well be rare in light of the constitutional right to refuse medical treatment in the absence of unusual circumstances
ii. To uphold such involuntary treatment, a court must find that
1. The government has an important interest in trying the D for the crime at issue
2. Forced medication is likely to render the D competent and unlikely to have side effects that interfere with the ability to assist defense counsel
3. Alternative, less intrusive treatments are unlikely to achieve substantially the same results
4. The treatment is in the D’s best medical interest in light of her condition
iii. A principal concern is that these criteria give insufficient weight to forced medication’s potential for negative side effects
1. Any medication that succeeds in rendering the D competent to stand trial is likely to alter his mental functioning and physical appearance in myriad ways, thereby potentially compromising the fairness of his trial
f. Is finding of incompetency to stand trial warranted when a D’s memory is impaired?
i. If the D is suffering from total amnesia concerning the alleged crime but is otherwise in full command of her faculties, most courts hold that the D is competent to stand trial
2. Insanity
a. Full defense
3. Diminished Capacity
a. Partial defense
4. Competency vs. insanity
a. Time 1 = when the crime happens
i. Insanity is what your mental state as at the time of the crime
b. Time 2 = when the trial happens
i. Competency refers to the defendant's mental state at the time of the trial
ii. Dusky standard
1. Ability to consult with counsel
2. Understand the proceedings
c. We will be discussing the defendant's mental state at both of these points
iii. Insanity
1. McNaghten
a. D presumed sane
b. At the time of the crime
c. Disease or defect
i. D does not know (seems pretty all or nothing)
1. The nature and quality of acts; or (covered by “appreciate wrongfulness prong of MPC)
2. The acts are wrong (covered by “appreciate wrongfulness prong of MPC) (our laws represent our morals, so people’s morals aren't what determines right from wrong; we’re talking about society’s morality)
ii. CL additions
1. Irresistible impulse (covered by “cannot conform” prong of MPC)
2. Deific decree (covered by the “appreciate wrongfulness” prong of MPC)
2. MPC
a. D presumed sane
b. At the time of the crime
c. Disease or defect
d. Lacks substantial capacity to (more lenient than the McN “knowing” standard):
i. Appreciate wrongfulness; or (this is a cognitive prong) - you may know what you are doing, but not appreciate why it is wrong
ii. Control/conform behavior (this is a volitional prong) - they can’t control
3. Mental Disease of Defect
a. Legal concept (judge decides)
b. A doctor telling you you have a disease or defect doesn’t necessarily mean it will be considered that in the legal proceeding
c. Look at various factors
i. Verifiable symptoms
ii. Medical history
iii. Number of cases
iv. Easily faked?
v. Stigma?
vi. Brought upon self?
vii. Other policy concerns?
4. M’Naghten Case
a. M’Naghten shot the secretary to the prime minister, thinking it was the Prime Minister
b. M had been hearing voices and having delusions
c. He gets off, raising an insanity defense
d. Court instructs the jury on the defense
i. Do you think he knew he was doing a wicked act?
ii. If the jury thought he was not sensible at the time of committing the crime, he has the defense
iii. But if he was in a sound state of mind at the time of committing the crime, he is guilty
e. M gets off, Queen not happy
f. House of Commons  ask the court to clarify this decision, and want to know what the questions are they should ask the jury
g. This is the famous part of the case
i. Every defendant presumed sane
ii. Defendant must prove :
1. At the time of crime
2. Had a defect or disease of the mind
a. Defendant does not know the nature and quality of his acts; or
b. Acts are wrong
5. Disease or Defect (there’s a range)
a. Total psychosis (completely detached from reality)
b. Anti-Social Conduct/Bad personality (sociopaths)
iv. Diminished Capacity: A defense that a person couldn’t form the necessary mens rea
1. Can an expert testify about mental health when the insanity defense is not applicable?
2. 3 approaches
a. Clark
i. No defense
ii. Clark case
1. Shot and killed a police officer
2. Court says you don’t have to allow a diminished capacity defense
3. The court is worried about battle of the experts and confusing the jury
4. They talk about observational evidence and mental disease evidence
5. The court says you can have observational evidence
6. But what you can’t do is call a mental health expert, unless you are arguing insanity
7. We give you an insanity defense, so you don't also need diminished capacity defense
8. If you get out on a diminished capacity defense, you go out free vs. insanity, where you are put in a mental hospital
9. Dissent
a. If we’re going to have mens rea, should be able to rebut it
b. If you can argue that voluntary intoxication can rebut mens rea, why shouldn’t this be able to
10. Expert says he had paranoid schizophrenia
11. Even though he couldn’t argue insanity, should get diminished capacity
12. Convicted of first degree murder
13. SC says this doesn’t violate due process
14. You can get observational witnesses, just don’t get expert witnesses
15. Dissent
a. Even though you have an insanity defense, we still shouldn’t get rid of diminished capacity
b. If we really believed in mens rea, why wouldn’t we give the jurors the best tools/evidence to decide
b. Brawner
i. Reduce specific intent crime to general intent crime
ii. Need a lesser crime to exist
iii. Classic example is moving 1st degree murder -> 2nd degree murder
iv. How do you argue you didn't have the mens rea?
1. Observational witnesses
a. I see this guy everyday, he’s not capable
2. Expert witnesses
v. But the court is worried about expert witnesses
1. The court says they will allow this type of witness 
2. If we allow people who drink to argue they can’t form the mens rea, we have to allow this
vi. Brawner case
1. An expert comes in and testifies about the mental condition
2. You may not be insane, but you have diminished capacity to the point where it stops your from being able to form the mens rea
3. Some crimes require a high bar of specific intent
a. If you didn’t have that intent, you shouldn’t be charged with the crime
c. MPC
i. Can use to prove no mens rea for any crime
ii. Can use expert testimony to take specific intent -> general intent -> (or) No crime at 
iii. Specific intent -> general intent
iv. General intent -> no crime
v. Specific intent -> no crime
v. Intoxication
1. Involuntary (Full defense)
a. D unaware ingesting drug or alcohol
b. D forced to consume drug or alcohol
c. Pathological effect
i. Person really had no idea it would have that impact
1. You took an aspirin, and it turned out to have the same impact on you that acid would
2. Voluntary (Partial defense)
a. Reduces mens rea
i. C/L: M1 -> M2 (specific intent -> general intent)
ii. But need a lesser crime (like Brawner)
b. Also can only apply voluntary defense to specific intent crimes
3. When the intoxication is so permanent that your brain is permanently changed, that might qualify as a disease or defect -> could be a full defense
4. Note: MPC approach both voluntary and involuntary the same as CL
a. Voluntary - negate mens rea of crimes that are not reckless or negligent
b. Involuntary - full defense if it has the same impact as insanity (actor does not know what he is doing or cannot conform conduct)
Possible Policy Questions
THEORIES OF PUNISHMENT
Retribution
o   Punish people who commit wrongs against society (revenge for wrongdoing); crime and “corresponding” punishment
o   Sends the message that certain norms simply cannot be violated
o   Backward-looking (retributive)
CRITIQUE
-       Legitimizing vengeance
-       Intentionally inflicting pain when there is no guarantee that it will promote a greater good for society
-       Ignores motive and social conditions (a mom stealing with the goal to feed her kids receives same punishment as man stealing same object out of wickedness)
Deterrence
o   Discourage people from committing the crime (pain > pleasure)
o   Effective with white-collar crimes
o   Specific: deter the offender from committing the crime again
o   General: deter others from committing the crime
o   Forward-looking (utilitarian)
CRITIQUE
-       Kant: cannot use one person as an example for others (opinion: against general deterrence)
-       Assume rationality in choice (cost-benefit analysis)
-       Ineffective (recidivism)
Rehabilitation
o   Positively change the offender’s conduct (“fix them”)
o   Forward-looking (utilitarian)
CRITIQUE
-       assumes people can change
-       society often prefers to use pecuniary resources towards other things
Incapacitation
o   Keep the criminals away from society and ensure they cannot commit the crime
CRITIQUE
-       Very expensive
-       Statistically, crimes happen at similar rates so it is seemingly ineffective
Not all moral wrongs are crimes because this would lead to overcriminalization.
What are the disadvantages of overcriminalization?
1)
Foster disrespect for the law
2)
Discriminatory / selective enforcement
3)
Not an efficient use of resources
4)
No consensus on immoral conduct
5)
Overcrowding of prisons
The criminal justice system enforces punishment, which is intentionally unpleasant, through imprisonment.
What are the consequences of imprisonment / criminal punishment?
1)
social stigma
2)
future employment opportunities
3)
housing access
4)
deportation
ELEMENTS OF THE CRIME
Why do we need the actual act (actus reus) in order to convict?
1)
People can change their minds
2)
Need a specific result to convict the offender
3)
Too many criminals if people are convicted based only on thoughts
Why has the US adopted the general rule that failure to act is not a crime?
1)
American ideal of individual freedom
2)
Fear of diverting attention from perpetrator of crime to bystanders
3)
Good Samaritans may face undue risk of harm
